

$(1! + 2! + 3! + \dots + 24!)$ از ۲۴! به بعد چون عامل ۲ دارد $(1! + 2! + 3! + \dots + 24!)$ از ۲۴! به بعد چون عامل ۲ دارد $1! + 2! + 3! + \dots + 24! = 24$ $1! + 2! + 3! + \dots + 24! = 24$ $\rightarrow 24 \times 24 = 576$	۱
الف) $\sqrt{1+\sqrt{5}} - 1 \times \sqrt{1+\sqrt{5}} \rightarrow \sqrt{\frac{1}{1+\sqrt{5}}} \times (1+\sqrt{5})^2 = \sqrt{\frac{1+\sqrt{5}}{1-\sqrt{5}}} = \sqrt{2}$ ب) $\frac{\sqrt{1+\sqrt{5}}}{\sqrt{1-\sqrt{5}}} \times (\sqrt{1+\sqrt{5}} - \sqrt{1-\sqrt{5}}) \times \frac{\sqrt{2}}{2} (\sqrt{1+\sqrt{5}} - \sqrt{1-\sqrt{5}}) \rightarrow (\sqrt{1+\sqrt{5}} - \sqrt{1-\sqrt{5}})^2 \times \frac{\sqrt{2}}{2}$ $= 1 + \sqrt{5} + 1 - \sqrt{5} - 2(\sqrt{1+\sqrt{5}}\sqrt{1-\sqrt{5}}) \times \frac{\sqrt{2}}{2} \rightarrow \frac{\sqrt{2}}{2} (\sqrt{1+\sqrt{5}} - \sqrt{1-\sqrt{5}}) = \frac{\sqrt{2}}{2} \times (-\sqrt{2})$ $= -1$	۲
الف) $\frac{1+\sqrt{5}}{2-\sqrt{5}} \times \frac{2+\sqrt{5}}{2+\sqrt{5}} = \frac{1+\sqrt{5}}{4-5} = \frac{1+\sqrt{5}}{-1} = -1-\sqrt{5}$ $\rightarrow 2(\sqrt{5}-1)^{-1} = 2(\sqrt{5}-1)^{-1} \times \frac{\sqrt{5}+1}{\sqrt{5}+1} = \frac{2}{\sqrt{5}-1} \times \frac{\sqrt{5}+1}{\sqrt{5}+1} = \frac{2(\sqrt{5}+1)}{5-1} = \frac{2(\sqrt{5}+1)}{4} = \frac{\sqrt{5}+1}{2}$ ب) $\frac{1+\sqrt{5}}{2-\sqrt{5}} \times \frac{2+\sqrt{5}}{2+\sqrt{5}} = \frac{1+\sqrt{5}}{4-5} = \frac{1+\sqrt{5}}{-1} = -1-\sqrt{5}$ $\rightarrow (2-\sqrt{5})^{-1} = \frac{1}{2-\sqrt{5}} \times \frac{2+\sqrt{5}}{2+\sqrt{5}} = \frac{2+\sqrt{5}}{4-5} = \frac{2+\sqrt{5}}{-1} = -2-\sqrt{5}$	۳
الف) $(\sqrt{3+1} + \sqrt{4-1})^2 = 2\sqrt{3+1} + 2\sqrt{4-1} = 2(\sqrt{3+1} + \sqrt{4-1}) \rightarrow \frac{\sqrt{2}(\sqrt{3+1} + \sqrt{4-1})}{\sqrt{3+1} - \sqrt{4-1}} \times \frac{\sqrt{3+1} + \sqrt{4-1}}{\sqrt{3+1} + \sqrt{4-1}}$ $= \sqrt{2}(\sqrt{3+1} + \sqrt{4-1}) \times \frac{1}{\sqrt{3+1} + \sqrt{4-1}} = \sqrt{2} \times \sqrt{4+2} = \sqrt{2} \times \sqrt{6} = \sqrt{12}$ ب) $\sqrt{2^8} \times \sqrt{3^4 \times 2} \times \sqrt{2^{13}} = \sqrt{2^8 \times 3^4 \times 2^2 \times 2^{13}} = \sqrt{2^{23} \times 3^4} = 2^{11} \times 3^2 = 2048 \times 9 = 18432$	۴
$\frac{3^n (1+3+9+27+\dots+11+253)}{2^{n-2} (1+2+4+8+\dots+43)} = 2 \rightarrow \frac{3^n \times 2}{2^{n-2} \times 43} = 2 \rightarrow \frac{3^n}{2^{n-2}} \times \frac{2}{43} = 1$ $\rightarrow (\frac{3}{2})^n = \frac{43}{2} \rightarrow n=2$	۵

$$(a^2 + b^2 - rab)^r (a^2 + b^2 + rab)^r = ((a-b)^2)^r ((a+b)^2)^r = ((a-b)(a+b))^r = (a^2 - b^2)^r$$

$$= (a^4 - ra^2b^2 + b^4)^r = (\sqrt{4} - r + \sqrt{(\sqrt{4}-1)(\sqrt{4}+1)} + \sqrt{4} + r)^r = (r\sqrt{4} - r\sqrt{r})^r$$

$$= (\sqrt{4} - \sqrt{r})^r = (4 + r - 2\sqrt{4r}) = 4(r - \sqrt{4r}) = 4(r - \sqrt{r}) \rightarrow \boxed{6.14}$$

6

$$(a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r = ((a + \frac{1}{a})^2 - (\sqrt{r})^2)^r = (a^2 + \frac{1}{a^2} + r - r)^r = a^2 \frac{1}{a^2} + r$$

$$a^2 \frac{1}{a^2} + r = r + \sqrt{r} + \frac{1}{\sqrt{r}} + r = (1 + \sqrt{r}) + (\frac{1}{\sqrt{r}} + \frac{\sqrt{r}}{\sqrt{r}}) = r + 2$$

$$\Rightarrow r + 2 = r + \sqrt{r} + \frac{1}{\sqrt{r}} + r \rightarrow \boxed{6.14}$$

7

$$A = \sqrt[r]{r \sqrt[r]{14}} = (\frac{1}{r})^{-\frac{r}{r}} \sqrt[r]{r!} = r^{\frac{r}{r}} = r^1 = r$$

$$\rightarrow (rA)^{-\frac{1}{r}} = \sqrt[r]{\frac{1}{rA}} = \sqrt[r]{\frac{1}{r}} = \frac{1}{r}$$

8

$$\sqrt[r]{a} = r \sqrt[r]{a} \frac{10}{r} \xrightarrow{r \sqrt[r]{a}} a = r \sqrt[r]{a} \times a^{10} \rightarrow a^{10} = (r^r)^r \rightarrow a = r^{-\frac{r}{r}} \rightarrow a = \frac{1}{\sqrt[r]{r}}$$

$$\frac{1}{a} - r = r\sqrt{r} - r = r(\sqrt{r} - 1)$$

$$\frac{\frac{1}{a} - r}{\sqrt{r} + 1} = \frac{\sqrt{r} - 1}{\sqrt{r} - 1} = \frac{r(\sqrt{r} - 1)(\sqrt{r} - 1)}{r - 1} = \frac{r(r - 1 - 2\sqrt{r} + 1)}{r} = \frac{r(r - 2\sqrt{r})}{r} = \boxed{4 - 2\sqrt{r}}$$

9

$$(\sqrt{na} - \sqrt{n-2})(\sqrt{na} + \sqrt{n-2}) = na - n + 2 = a + 2 = r(\sqrt{na} + \sqrt{n-2})$$

$$\sqrt{na} + \sqrt{n-2} = \frac{a+2}{r} \rightarrow \sqrt{na} + \sqrt{n-2} = r, \frac{a+2}{r} = r, \boxed{\frac{a}{r}}$$

10